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PRINT Your Name:
There are 14 problems on 6 pages. The exam is worth 100 points. SHOW
your work. m your answer. CHECK your answer whenever possible.
NO CALCULATORS. Your grade for the course will be available on VIP by
Wednesday July 11.

1. (16 points) Let A be an m x n matrix. List 8 statements that are equivalent
to the statement “ A is invertible”.
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2. (4 points) Define “span”. Use complete sentences.
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3. (4 points) Define “linear combination”. Use complete sentencés.

TL’C Lecfar AV (S 7 _/‘.‘?C"ft Coqbing tron of 1a, Vects 1/1/‘--;,(/,4
['-f Y= & Vl‘f"‘ qu(/n ?{av nyr)(? Hegen éﬂg C‘I ~) Ca,



